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I. What is the coefficient of performance of an ideal heat pump that brings heat
from the outdoor at — 3 °C into a 22 °C house?

2. The surface of the sun is approximately 6000 K and the temperature of the
earth’s surface is approximately 23 °C. What is the net entropy change when
1000 J of heat energy is transferred from the sun to the earth?
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One mole of a diatomic ideal gas is taken trough the cycle shown in the figure. If
Ta=400 K and T, = 200 K, calculate the change in entropy for each process.
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I. Five moles of a monatomic ideal gas expand isobarically at 1 atm. from a
volume of 2 L to a volume of 10 L. calculate the entropy change during the

process.
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2. A 100 gofice at 0 °C is heated to 80 °C. Calculate the change in entropy of ice. The
specific heat of water is = 4190 J/Kg K, and the heat of fusion of ice = 333 kJ/K)
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